


 

10th - Maths

SN Marks

1 Every ______________can be expressed ( factorised) as a product of primes, and this 
factorisation is unique, apart from the order in which the prime factors occur.
( a) Composite number ( b) Prime number

( c) Even number ( d) Odd number

2

2 The prime factorisation of a ___________ is unique, except for the order of its factors.
( a) Whole number ( b) Natural number

( c) Integer ( d) Real number

1

3 Consider the numbers , where n is a natural number. Is there any value of n for which  
ends with the digit zero ?
( a) YES ( b) NO

2

4 What are the LCM and HCF of 6 and 20 by prime factorisation method?
( a) 60,2 ( b) 30,4

( c) 60,4 ( d) 30,2

2

5 What are the LCM and HCF (by prime factorisation method) of 6, 72 and 120?
( a) 240,6 ( b) 360,4

( c) 360,6 ( d) 240,4

2

6 How is 140 expressed as a product of its prime factors.
( a) ( b)

( c) ( d)

2

7 How is 7429 expressed as a product of its prime factors.
( a) ( b)

( c) ( d)

2
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2 × 3 × 5 × 7 2 × 5 × 5 × 7

2 × 2 × 3 × 7 2 × 2 × 5 × 7

17 × 19 × 23 17 × 17 × 23

17 × 19 × 21 19 × 19 × 21
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8 What are the LCM and HCF of 17, 23 and 29?
( a) 11339,1 ( b) 11339,3

( c) 11199,1 ( d) 11199,3

2

9 What are the LCM and HCF of 8, 9 and 25?
( a) 1800,1 ( b) 1600,1

( c) 1800,3 ( d) 1600,3

2

10 Given that HCF (306, 657) = 9, What is LCM (306, 657)?
( a) 22,448 ( b) 22,558

( c) 22,638 ( d) 22,338

2

11 (7 × 11 × 13 + 13) and (7 × 6 × 5 × 4 × 3 × 2 × 1 + 5) are composite numbers. TRUE or FALSE ?
( a) TRUE ( b) FALSE

2

12 There is a circular path around a sports field. Sonia takes 18 minutes to drive one round of the 
field, while Ravi takes 12 minutes for the same. Suppose they both start at the same point and 
at the same time, and go in the same direction. After how many minutes will they meet again at 
the starting point?
( a) After 36 minutes ( b) After 38 minutes

( c) After 46 minutes ( d) After 48 minutes

3

13 A number is called a ______ number, if it has atleast one factor other than 1 and the number 
itself. Fill in the blank.
( a) Prime ( b) Composite

1

14 The smallest prime number is?
( a) 1 ( b) 2

( c) 3 ( d) 5

1

15 1,2, 3, 6, 12 all are factors of -
( a) 12 ( b) 26

( c) 46 ( d) 44

1
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16 HCF (306, 657) = 9, What is LCM (306, 657)?
( a) 22,448 ( b) 22,558

( c) 22,638 ( d) 22,338

2

17 Imagine a seminar where the number of participants in Hindi , English and Mathematics are 60, 
84 and 108, respectively. Find the minimum numbers of rooms required if in each room the 
same number of participants are to be seated and all of them being from the same subject.
( a) 21 ( b) 42

( c) 12 ( d) 24

2

18 On GT road, three consecutive traffic lights change after 36, 42 and 72 s. If the lights are first 
switched on at 9: 00 am, then at what time in future will they change simultaneously ?
( a) 9 : 08 : 24 am ( b) 9 : 04 : 26 am

3

19 Imagine a forester wants to plant 66 mango trees, 88 orange trees and 110 apple trees in 
equal rows (in terms of number of trees). Also, he wants to make distinct rows of trees (i.e. 
only one type of trees in one row). Find the number of minimum rows.
( a) 48 ( b) 24

( c) 12 ( d) 16

3

20 Sanket wants to buy pencils and pens. Pens are sold in the pack of 3, pencils are sold in the 
pack of 5. He buys them such that the number of pens is equal to number of pencils. What is 
the least number of packs of pens he bought?
( a) 1 ( b) 3

( c) 5 ( d) 15

5

21 Find out the greatest possible length which can be used to measure exactly the length 7m, 3 m 
85 cm and 12 m 95 cm.
( a) 35 cm ( b) 36 cm

( c) 37 cm ( d) 38 cm

5

22 Find the smallest number which leaves remainders 8 and 12 when divided by 28 and 32 
respectively.
( a) 240 ( b) 224

( c) 204 ( d) 244

2
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23 What is the smallest number that, when divided by 35, 56 and 91 leaves remainders of 7 in 
each case ?
( a) 3647 ( b) 3633

( c) 3467 ( d) 3643

2

24 Box that are 12 cm tall are being stacked next to the boxes that are 18 cm tall. What is the 
shortest height at which two stacks will be at same height ?
( a) 36 ( b) 24

( c) 18 ( d) 30

2

25 If the LCM of 26 and 91 is 182, find their HCF.
( a) 26 ( b) 13

( c) 15 ( d) 17

3

26 State True or False, Let p be a prime number. If p divides  , then p divides a, where a is a 
positive integer.
( a) TRUE ( b) FALSE

1

27 State True or False,  is irrational.

( a) TRUE ( b) FALSE

1

28 If p and q are primes, is  rational or irrational?

( a) RATIONAL ( b) IRRATIONAL

1

29 Is  a rational or irrational number?

( a) RATIONAL ( b) IRRATIONAL

1

30 The product of two irrationals is always an irrational. True or False?
( a) TRUE ( b) FALSE

1

31 Assertion (A) : Every composite number can be expressed (factorized) as a product of primes.

Reason (R) : This factorization is unique, apart from the order in which the prime factors occur.
( a) Both A and R are true and R is not the 

correct explanation of A.
( b) Both A and R are true but R is  the correct 

explanation of A.

1
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( c) A is true but R is false. ( d) A is false but R is true.

32 Assertion (A) : For any two positive integers a and b, HCF(a,b)  LCM(a,b) = a  b.

Reason (R) : The HCF of two numbers is 20 and product is 280 then LCM will be 17.
( a) Both A and R are true and R is the correct 

explanation of A.
( b) Both A and R are true but R is not the 

correct explanation of A.

( c) A is true but R is false. ( d) A is false but R is true.

1
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